<o @> (rad)

< 00, > (M)

<opyp, > ()

-0.5

100r

.......................................

#**#*i#fﬁﬁﬁ || -

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

[y
TITTTI[TTTT

=
O T
N

—=— DQM_CKF_TTbarPU

—e— DQM_mkFit_TTbarPU-noDNN-baseline
—— DQM_mkKFit_TTbarPU-noDNN-fix

1
B!
s b pl] o

T ?':r_:i

-
T

:‘“'
: + i\
. T
N Tl
.......... D I I 4
N ¥
| . PO H 3 1
-+
-+
1 3 B OREE B i G R
Tt -+
o +
4

1071 1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

N
(@)

<od,> (um)
N
(@)

o

......................

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


